5 Port Mechanical Valve/Metal Seal

Series VFMZ200

Specifications
Compact design, Fluid Air, Inert gas
- Operating pressure 0.1to 1.0MPa @

Large flow CapaCIty/CV'l'O Ambient and fluid temperature -5 to 60°C (No freezing)

: Effective area (Cv) 18mm?2(1.0)
ngh C_yC|e rate’ Maximum frequency (Mechanical operation style) 300 c.p.m or less
LOng ||f9/3000pm Lubrication Not required/Turbine oil #1 (ISO VG32)

.. . . . . Main valve Rc(PT) 1/4 (8A)
Piping pOSSIble to any EXH port. Port size (Nominal size) Pilot valve (EXH)/M5 X 0.8
Proper countermeasures can be taken for OPFiO” i Foot bracket ®
applications in which the noise of the Weight (Basic) 300g
exhaust could cause problems to the sur- OContact SMC for manifold mounting style.
roundings. Note 1) External pilot style Main valve: 0 to 1.0MPa

Pilot valve: 0.1 to 1.0MPa
External p||ot model avail- Note 2) The standard body can not be retrofitted with a foot bracket.

able. (Option)

Model
Foot b_raCket and manifold Actuator Model ﬁgﬁi}gr Application
mountlng pOSSIbIe' s Basic VFM250-02-00 — —
'@ Roller lever VFM250-02-01 VM-01C Polyacetal roller
Q VFM250-02-01S VM-01CS Hard steel roller
o VFM250-02-02 VM-02C Polyacetal roller
< | One way roller lever
Q VFM250-02-02S VM-02CS Hard steel roller
§ Straight plunger VFM250-02-05 VM-05D -
S Roller ol VFM250-02-06 VM-06D Polyacetal roller
= | morerplunger VFM250-02-06S VM-06DS Hard steel roller
Toggle lever VFM250-02-08 VM-08D -
VFM250-02-30R VM-30CR Red
VFM250-02-30B VM-30CB Black
Push button (Mushroom) VFM250-02-30G VM-30CG Green
VFM250-02-30Y VM-30CY Yellow
é VFM250-02-32R VM-32CR Red
© VFM250-02-32B VM-32CB Black
g Push button (Extended) VFM250-02-32G VM-32CG Green
= VFM250-02-32Y VM-32CY Yellow
% Push button (Flush) VFM250-02-33 VM-33C With a set of red, black, green, yellow
= VFM250-02-34R VM-34CR Red
Twist selector (2 position) VFM250-02-34B VM-34CB Black
VFM250-02-34G VM-34CG Green
VFM250-02-34Y VM-34CY Yellow
Key selector (2 position) VFM250-02-36 VM-36C -

Q Note) Actuator replacement is available for all styles.

3.5-53



How to Order

VFMZ200

VFM25

0

02101]|S

Option
Suffix of actuator Foot bracket
= Actuator S Hard steel roller F (Only internal pilot)
Port size 00 Basic R Red -
02 | Ro(PT) Va 01 Roller lever B | Black | Color of SOA
02 | One way roller lever G |Green | Push button I
Body option 05 Straight plunger Y |Yellow VOA
0 Internal pilot style 06 Roller plunger
1 | External pilot style 08 Toggle lever
30 |Push button (Mushroom)
32 |Push button (Extended) ——
33 | Push button (Flush) SOA
34 | Twist selector (2 position) —
36 | Key selector (2 position) VOA
Construction
VMIVR
VH
Non-actuated Actuated —
Force

1 & ®
i —=FlpE -3
2 |
i 7 2
ok )
@ i a =J[- EA
o2l Tk ®
AR °
o e } -
= i
B.* - ‘ {i 17
i @
@] i EB
R - /1;
a— i | | /‘:S;
@ - Eilt____ b
@
Component Parts
No. Description Material Notes No. Description Material Notes
(1 | Body Aluminum alloy Metallic plated (12 | Cushion for end cover Urethane rubber
(@ | Pilot body Zinc alloy Metallic plated 13 | Plunger Stainless steel
(3 | Head cover Zinc alloy Black zinc chromate (19 | Valve seat (A) Brass
(@) | Spool/sleeve Stainless steel 1 | Valve seat (B) Brass
(® | End cover Polyacetal Valve NBR, Brass
(&) | Piston guide Brass 7 | Return spring Stainless steel
(@ | Piston guide for end cover Brass Return spring Stainless steel
Piston Polyacetal Valve spring Stainless steel
(9 | Piston for end cover Polyacetal 20 | Mini Y packing NBR
(0 | Guide bushing Polyacetal @) | Mini'Y packing NBR
@) | Cushion Urethane rubber

3.5-54



VFMZ200

Series VFM200

Basic/ VFM250-02-00

%ﬁg
e |

: JIS Symbol
2-938 M5 X 0.8
- 20 . : (B)(A)
[ [ 1 Accessory mountin,
&_gp; ,ﬁs 08 ry g /(Pilot exhaust port) 2\\4 g)
: T
[Q}m L 315
i (EB)(P)EA)
Ny N ¥
o |9
> ez olaty
o T a8
« 15 i/l
el . G
9 g o o WS
S | ! ™ ?‘ ol J0.5MPa supply
I L i F.O.F.Y 16N
4 5.5 ‘ 28 [12 P.T. 1mm
3-4.5 Mounting hole M O.T. 2mm
T.T. 3mm
Roller Lever/ VFM250-02-01, VFM250-02-01S
214 Polyacetal or hard steel roller
(37) JIS Symbol
2%35 =i=H
@1 cn aoH (B){(A)
B m 2" 4
o
o L Msxos T\ /@
T ] (Pilot exhaust port) 3 1 8
‘ (s © 1?4“ (EB)(P)YEA)
&? — ! il
N
! ©
13 N | 2 o
N X 7/
ST < Pl
& i I é <
ol 4B
o < 63 (39
dife HE N\ Ri%)
3] o™ miN
\ @ N J0.5MPa supply
4[] 5.5 28 2 F.OoF.U 8N
40 23 P.T. 2.2mm
5-Re(PT) ) 3-4.5Mounting hole O.T. 4mm
T.T. 6.2mm
One Way Roller Lever/ VFM250-02-02, VFM250-02-02S
(42) @14 Polyacetal or hard steel roller
e 33 o
% 153'5 NS JIS Symbol
T (B)(A)
i j Qg 1T J 2 4
=4 B i AL kD
] S A Mbx08 1
4 |@r‘ \w (Pilot exhaust port) 31 5
g © i EB)(P
s 3 BGE (EB)P)EA)
‘ \ T
| o “
b | o f
[ N @’é’
8 —€§> = | 4 m[ <
i S o |1 |x €9$ &
> Jo— 3 T
ol IS |
> o~ NER N o €§ «
o o ) d i NL
i MiZs RE i U] 0J0.5MPa supply
! T - T
4 55 5 S F.O.F. 7N
\5-Re(PT) )2 ) O.T. 4.6mm
3-4.5Mounting hole T Zmm

3.5-55




VFMZ200

Series VFM200
Straight Plunger/ VFM250-02-05
Panel mounted hole
e o @
a1 oo M-18 X1 ‘ MIN.3
Lock nut 11mm thick, MAX.11
Y 27mm A.F.
Q8 8 | —_—
M5 X 0.8
‘ t (Pilot exhaust port) SOA
m 5 ——+ W JIS Symbol
— T (B)(A)
3 ~ 0 2 4 VOA
| i o /M L
$ i i r\g 1\ / @
| @ 4
| I T 315
@} i = i/ (EB)(P)EA) E—
il S )4 e SOA
Syl R A —
< ! &
S O3L Ny | e VOA
© i | E " o & 0J0.5MPasupply| —
it }
) 55_| | %8 z F.0.F.J 20N
1 40 23 P.T. 1.5mm
5-Re(PT))a 3-4.5Mounting hole O.T. 2mm VM/VR
T.T. 3.5mm
Roller Plunger/ VFM250-02-06, VFM250-02-06S VH
Panel mounted hole L
. =l 215 Polyacetal or hard steel roller
— aloH MIN.3
/ M18 X 1 MAX. 11
! I Lock nut 11mm thick, -
+ 27mm A.F.
N
& M5 X 0.8
(Pilot exhaust port) JIS Symbol
[ o1 [
= 3 (Sﬁ) (4A)
I
—~ : /™M
- \ i1 /KD
‘ R ! I T
@ . &5; ? ESB ’13 5
i a EA
R ézlb N g;\r‘ (EB)(P)EA)
sl | L e
el s 72
93 I N | ﬁ{im {“ n
& | Ik | N i ul BN 00.5MPa supply
} 0
I F.O.F. 20N
4 2
89,128 23 P.T. L.5mm
5-Ro(PT)% 3-4.5Mounting hole O.T. 2mm
T.T. 3.5mm
Toggle Lever/ VFM250-02-08
Panel mounted hole
5.5
! Lock nut 5.5mm thick,
: 24mm AF. L MAX7E
M5 X 0.8
N ! (Pilot exhaust port) JIS Symbol
&
[ 1 14 [ B®
> g i 2 4
2 b % g&
| !\: 3 1 L
! 5
% & Vansin (EB)(P)(EA)
b= ! Eﬂi <
S~ = ok
« 49 ‘ \ & N <
™% < | “ _{ \‘U 8
N : o N
& @7 = HJ( i S G Jg N
|
4|l 65, | 28 |
5-Re(PT) Y4 40 00.5MPa supply
F.o.F.U 15N
T.T. 40°

3.5-56



VFMZ200

Series VFM200
Push Button (Mushroom)/ VFM250-02-30R, B, G, Y Panel mounted hole
240 Eg::
i i Il i ‘ MAX.6
N ————
E 3
| l JC") (] L 1]
(] e x [&] M5 X 0.8
- j@ ¢- (Pilot exhaust port)
|
[T NS =R JIS Symbol
=5 B) (A
B e w7
pans m[ <
3>
. : pCE SN
g g SEAE: 3 15
T < \ A & (EB)(P)EA)
N 4 g N \
N 5 I a ¢
& ) ol § 00.5MPa supply
4 111 55 28 2 F.O.FY 21N
40 23 P.T. 4.8mm
5-Ro(PT) % 3-4.5Mounting hole O.T. 1.7mm

T.T. 6.5mm

Push Button (Extended)/ VFM250-02-32R, B, G, Y Panel mounted hole

238 Hi=F 1.
023 el ‘
a0 T ] A maxe
% .f:f"IE =)
T T B ‘T = ES\ (Pilot exhaust port)
] b il -~
=0 ™~ O
\ N~ L19m JIS Symbol
n—)’\_/
2 (B)(A)
N 4= | \ /
< &% > 4 T < > 8 T
sk L & é% < 315
e . P (EB)(P)EA)
o
2 M (C:', > Jrln N
® H @ 2 o 0J0.5MPa supply
4 55 iS 2J3'_2 F.O.F. 21N
0 P.T. 4.8mm
5-Re(PT) 4 3-4.5Mounting hole oT. 1.7mm
T.T. 6.5mm
Push Button (Flush)/ VFM250-02-33 Panel mounted hole
038 Hi
%) oo
__ _ & _MAx6
i S EN
L L] erm L‘___‘_] M5 X 0.8
] = R © 1 ] (Pilot exhaust port)
) : 4
ST | i
T ™~ | T, JIS Symbol
og
P
N i e | (S’) (4A)
i = )
d N M
6 - peE e\l £RD
5] 5] 1< 315
Tlogl s (EB)P)EA)
o * N o oA
809 Y )8 2l
| N [10.5MPa supply
4.4 551, 28 3-45 12 F.O0.F.J 21N
& 40 Mounting hole 23 PT. 4.8mm
5-Re(PT) 4 O.T. 1.7mm
T.T. 6.5mm

3.5-57




Series VFM200

VFMZ200

Twist Selector (2 position)/ ON =
VFM250-02-34R, B, G, Y Panel mounted hole
a ?
. 024.5 d
i OFF| 730 | MAX.6
9 ©) el 1
- - m  —
é%%_ SOA
H—‘% 9 M5 X 0.8 N
r Tt Ny (Pilot exhaust port) 31S Symbol VOA
TPTHY I —
T i) BY(A)
| 12 4
oo S
Ho: o ‘ ~8|T AN [
@ 2 : % i ol T SA
off AN = an |8 (EB)P)EA) —
- g, O < j=d
LN R oty 5 g VOA
T sl Tk O S
y o \e = B o - THS
V =F 54 28 B § 0J0.5MPa supply
4 23 F.O.F. 23N
\5-Rc(PT)% 3-4.5Mounting hole T.T. 90° VMIVR
Key Selector (2 position)/ VFM250-02-36 30 VH
z L
S Panel mounted hole
- ) <,
" t MAX.6
X 238 %
&
S\g T 1
feNE
- —|2
(2]
I [ To.
L A ( 1 ] @ . d msxos JIS Symbol
‘?iiif —J’;Jﬁ ;[ll_ e (Pilot exhaust port) (B) (A)
1 | |2 4
. S [ 13 MV
[ Ho: 0 s l =
\@ ; 5 '\a 31 8§
off> @ = NG (EB)P)EA)
«@ g B D> . D[+
u A K= < Fﬁ 8
R ‘?‘_m«f & HE
V of [ T N H N ) -
e NRilEAE WEE
1 |
4 114 5.5 28 2 00.5MPa supply
e peRo(PTY T (3.4 2 FOFD 26N
Key can be removed in “on” and “off” positions. Mounting hole TT. 90°
External Pilot Style With Foot Bracket
VFM251 Type VFM250-02-00-F 44.4
34.4 | 245
M5 X 0.8 Mounting hole
(External pilot port) =
e |
ijl g Y
il Fo?t
N |
g 06%:0
/‘ ' b
la e N
| T
©
(o]

3.5-58




